MAT 055 Practice Test Chapter 17

All test answers are to be in simplest form. A calculator may be used.
Cell phones, iPads, and other electronic devices with scanning or photo ability may NOT be used.

No notes, no books, no homework may be used while taking this test.

Simplify the expression. If any variables are present,
assume that they are positive.
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Write the expression in radical notation.
Do not simplify the radical expression.
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Write the expression using rationa}exponents.
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Simplify the expression.

Assume that all variables are positive. 2
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Solve the equation.
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Use the imaginary unit to write the expression.
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Write the expression in standard form, a + bi.
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Simplify the power of i.
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